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The Ohio State University

Department of Electrical and Computer Engineering

ECE 341 

Autumn 2008
Quiz # 6: Solution
Name (print) ____________________________________________

Notice: 

· There is one problem on the following pages.  

· Please read the problem carefully.

· Draw circuit diagrams, show all the steps, and WINDOW THE FINAL ANSWERS.

“No aid is given, received or observed”         Signature_____________

Grade_____________


Problem # 1:  (10 Points)
A three-phase synchronous motor rated 240-V, 60-Hz, 1-hp, 8-pole, pf= 0.9 (lagging) has per-phase synchronous reactance of 0.2 ohms and is running from an infinite bus through a cable with the impedance of R=0.05 ohm and X=0.5 ohm at half load at rated voltage. Ignoring friction, windage and core losses for purposes of this problem. 

Compute: 

a) Synchronous Speed (2 points) 

b) The infinite bus voltage (8 points)
(Note: 1-hp=0.746 kW)
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